L VCE & PDF https://lwww.geekcert.com/hp2-z34.html
' 2024 Latest geekcert HP2-Z34 PDF and VCE dumps Download
: GeekCert.com

HP2-Z2347¢A

Building HP FlexFabric Data Centers

Pass HP HP2-Z34 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/hp2-z34.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest HP2-234 Dumps | HP2-Z34 PDF Dumps | HP2-Z234 Exam Questions 1/4


https://www.geekcert.com/hp2-z34.html
https://www.geekcert.com/hp2-z34.html
https://www.geekcert.com/hp2-z34.html

VCE & PDF https://lwww.geekcert.com/hp2-z34.html
' 2024 Latest geekcert HP2-Z34 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

An HP Comware switch uses the MDC feature and has two MDCs defined. Administrators want MDC 1 and MDC 2 to
be able to exchange traffic. How should the administrators complete the configuration?

A. Create a virtual port with the same name on MDC 1 and MDC 2.

B. Create a virtual port on MDC 0 and tag that port for the MDC 1 and MDC 2 management VLANSs

C. Connect a physical port that belongs to MDC 1 to a physical port that belongs to MDC 2

D. Configure MDC 0 to permit data exchange and add a backplane mapping between MDC 1 and MDC 2.

Correct Answer: A

QUESTION 2

Refer to the exhibit
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An administrator is planning an MPLS solution and wants to make sure that traffic from 10.1.0.0716 to 10.2 0.0/16 takes
the best path. The solution is not using Traffic Engineering (TE). How does PE-1 choose between the label advertised
for 10.2.0.0/16 by P-4 and by P-5?

A. based on which peer is the higher priority LDP peer

B. based on which peer is the next hop in the best route in the IP routing table

C. based on which link has the lower LDP cost

D. based on which link has the lower MPLS cost

Correct Answer: B
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QUESTION 3

To support FCoE traffic, a switch port needs to use Application TLVs to communicate application priority information to a
Converged Network Adapter (CNA). The setup process includes the configuration of an Access Control List (ACL).
What is a valid ACL?

A. Advanced ACL that selects traffic by UDP source port

B. Advanced ACL that selects traffic by TCP source port

C. Standard ACL that selects traffic by source IP address

D. Ethernet ACL that selects traffic by Ethertype

Correct Answer: B

QUESTION 4

An HP IRF virtual switch with two members is implementing SPBM. The administrator wants to ensure that the master
can fail without causing topology changes or changes in forwarding tables in the SPBM region. Which setting helps
support this requirement?

A. tandem replication for multicasts

B. persistent MAC address for IRF

C. Bidirectional Forwarding Detection (BFD) Multi-Active Detection (MAD) for the IRF link

D. non-stop-forwarding for SPBM

Correct Answer: C

QUESTION 5
Refer to the exhibit An administrator is establishing an MPLS domain to allow communication between 10.1.0.0/16.10 2

0 0/16. and 10.3 0.0/16. The solution will use OSPF routing and LDP. On which PE and P devices should these
protocols be configured?
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A. All P and PE devices should be configured with MPLS, but only P devices need OSPF and only PE devices need
LDP.

B. All P and PE devices should be configured with MPLS, LDP. and OSPF.
C. All P and PE devices should be configured with MPLS, but only PE devices need OSPF and LDP.

D. All P and PE devices should be configured with MPLS and LDP. but only PE devices need OSPF.

Correct Answer: A
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